

Disclaimer

The solution at hand was written in the course of the respective class at the University of Bonn. If not stated differently on top of the first page or the following website, the solution was prepared and handed in solely by me, Marvin Zanke. Anything in a different color than the ball pen blue is usually a correction that I or a tutor made. For more information and all my material, check:

<https://www.physics-and-stuff.com/>

I raise no claim to correctness and completeness of the given solutions! This equally applies to the corrections mentioned above.

This work by [Marvin Zanke](#) is licensed under a [Creative Commons Attribution-NonCommercial-ShareAlike 4.0 International License](#).

12.01.2017

Advanced Quantum theory Exercise 10

Maria Zanke
Tim Kasabaci

19.5/20

A1B) Dirac equation: $(i\gamma^\mu \partial_\mu - m)\psi(x) = 0$

pos. energy solution: $\psi_r^+(x) = e^{-i p x} u_r(p)$

depends on p
or well?

$$\Rightarrow (i\gamma^\mu \partial_\mu - m)\psi_r^+(x) = 0 \Leftrightarrow i\gamma^\mu (-i p_\mu) e^{-i p x} u_r(p) - m e^{-i p x} u_r(p) = 0$$

$$\Leftrightarrow (\not{p} - m)u_r(p) = 0 \quad (1)$$

$$\Leftrightarrow u_r^\dagger(p) (\not{p} - m)^\dagger = 0 \Leftrightarrow u_r^\dagger(p) (p_\mu (\gamma^\mu)^\dagger - m) = 0$$

$$\stackrel{p^\mu = p}$$

$$\stackrel{(\gamma^\mu)^\dagger = \gamma^0 \gamma^\mu \gamma^0}{\Leftrightarrow} u_r^\dagger(p) (p_\mu \gamma^0 \gamma^\mu \gamma^0 - m) = 0 \Leftrightarrow \bar{u}_r(p) (\not{p} - m) = 0$$

$$\Leftrightarrow \bar{u}_r(p) (\not{p} - m) = 0 \quad (2)$$

Now with $\sigma^{\mu\nu} = \frac{i}{2} [\gamma^\mu, \gamma^\nu]$, we look at RHS:

$$\begin{aligned} & \frac{1}{2m} \bar{u}_r(p') [(p' + p)^\mu + i\sigma^{\mu\nu} (p'_\nu - p_\nu)] u_s(p) \\ &= \frac{1}{2m} \bar{u}_r(p') (p'^\mu + p^\mu) u_s(p) - \frac{1}{4m} \bar{u}_r(p') [\gamma^\mu, \gamma^\nu] (p'_\nu - p_\nu) u_s(p) \\ &= \frac{1}{2m} \bar{u}_r(p') p'^\mu u_s(p) + \frac{1}{2m} \bar{u}_r(p') p^\mu u_s(p) - \frac{1}{4m} \bar{u}_r(p') \gamma^\mu \gamma^\nu p'_\nu u_s(p) \\ & \quad + \frac{1}{4m} \bar{u}_r(p') \gamma^\mu \gamma^\nu p_\nu u_s(p) + \frac{1}{4m} \bar{u}_r(p') \gamma^\nu \gamma^\mu p'_\nu u_s(p) - \frac{1}{4m} \bar{u}_r(p') \gamma^\nu \gamma^\mu p_\nu u_s(p) \\ &= \frac{1}{2m} \bar{u}_r(p') p'^\mu u_s(p) + \frac{1}{2m} \bar{u}_r(p') p^\mu u_s(p) - \frac{1}{4m} \bar{u}_r(p') \{2g^{\mu\nu} - \gamma^\nu \gamma^\mu\} p'_\nu u_s(p) \\ & \quad + \frac{1}{4m} \bar{u}_r(p') \gamma^\mu \gamma^\nu p_\nu u_s(p) + \frac{1}{4m} \bar{u}_r(p') \gamma^\nu \gamma^\mu p'_\nu u_s(p) - \frac{1}{4m} \bar{u}_r(p') \gamma^\nu \gamma^\mu p_\nu u_s(p) \\ &= \frac{1}{2m} \bar{u}_r(p') p'^\mu u_s(p) + \frac{1}{4m} \bar{u}_r(p') \gamma^\mu \gamma^\nu p_\nu u_s(p) + \frac{1}{2m} \bar{u}_r(p') \gamma^\nu \gamma^\mu p'_\nu u_s(p) \\ & \quad - \frac{1}{4m} \bar{u}_r(p') \gamma^\nu \gamma^\mu p_\nu u_s(p) \\ &= \frac{1}{2m} \bar{u}_r(p') p'^\mu u_s(p) + \frac{1}{4m} \bar{u}_r(p') \gamma^\mu \gamma^\nu p_\nu u_s(p) + \frac{1}{2m} \bar{u}_r(p') \gamma^\nu \gamma^\mu p'_\nu u_s(p) \\ & \quad - \frac{1}{4m} \bar{u}_r(p') \{2g^{\mu\nu} - \gamma^\nu \gamma^\mu\} p_\nu u_s(p) \\ &= \frac{1}{2m} \bar{u}_r(p') \gamma^\mu \gamma^\nu p_\nu u_s(p) + \frac{1}{2m} \bar{u}_r(p') \gamma^\nu \gamma^\mu p'_\nu u_s(p) \\ &= \frac{1}{2m} \left[\bar{u}_r(p') \gamma^\mu \not{p} u_s(p) + \bar{u}_r(p') \not{p}' \gamma^\mu u_s(p) \right] \\ &= \frac{1}{2m} \left[\bar{u}_r(p') \not{p} m u_s(p) + \bar{u}_r(p') m \not{p}' u_s(p) \right] \\ &= \frac{1}{2} \left[\bar{u}_r(p') \not{p} u_s(p) + \bar{u}_r(p') \not{p}' u_s(p) \right] \\ &= \bar{u}_r(p') \not{p} u_s(p) \quad \square \end{aligned}$$

Just pull p'_\nu
in front?
 $\gamma^\nu \gamma^\mu p'_\nu = p'_\nu \gamma^\nu \gamma^\mu$

4/4

#14) As we know from H(13): $(p-m)u_r(p) = 0$
 (1) $u_r(p)(p-m) = 0$ *pos. energy solutions*

analogue (2) $(p+m)v_r(p) = 0$
 $v_r(p)(p+m) = 0$ *neg. energy solutions*

Now define: $\Lambda_{\pm} := \frac{m \pm p}{2m}$

Normalisation Besides that, we showed for the explicit expressions of the spinors (lecture):

Same N for both?
 $u_r(p) = N(p+m)u_r(m, \vec{0}) = \sqrt{\frac{E+m}{2m}} \begin{pmatrix} \chi_r \\ \frac{\vec{\sigma} \cdot \vec{p}}{E+m} \chi_r \end{pmatrix}$

$$v_r(p) = N(p-m)v_r(m, \vec{0}) = \sqrt{\frac{E+m}{2m}} \begin{pmatrix} \frac{\vec{\sigma} \cdot \vec{p}}{E+m} \chi_r \\ \chi_r \end{pmatrix}$$

with $\chi_1 = \begin{pmatrix} 1 \\ 0 \end{pmatrix}$, $\chi_2 = \begin{pmatrix} 0 \\ 1 \end{pmatrix}$

a) $\Lambda_+ u_r = \frac{m+p}{2m} u_r \stackrel{(1)}{=} \frac{m+m}{2m} u_r = u_r$

$$\Lambda_+ v_r = \frac{m+p}{2m} v_r \stackrel{(2)}{=} \frac{m-m}{2m} v_r = 0$$

$$\Lambda_- u_r = \frac{m-p}{2m} u_r \stackrel{(1)}{=} \frac{m-m}{2m} u_r = 0$$

$$\Lambda_- v_r = \frac{m-p}{2m} v_r \stackrel{(2)}{=} \frac{m-(-m)}{2m} v_r = v_r$$

b) $\Lambda_{\pm}^2 = \frac{m \pm p}{2m} \cdot \frac{m \pm p}{2m} = \frac{m^2 + p^2 \pm 2mp}{4m^2} = \frac{2m^2 \pm 2mp}{4m^2}$
 $= \frac{m \pm p}{2m} = \Lambda_{\pm}$

where we used that $p^2 = \delta^{\mu\nu} p_{\mu} p_{\nu} = \frac{1}{2} \delta^{\mu\nu} p_{\mu} p_{\nu} + \frac{1}{2} \delta^{\nu\mu} p_{\nu} p_{\mu}$
 $= \frac{1}{2} p_{\mu} p_{\nu} \{ \delta^{\mu\nu}, \delta^{\nu\mu} \} = \frac{1}{2} p_{\mu} p_{\nu} (2g^{\mu\nu} \mathbb{1})$
 $= p^{\mu} p_{\mu} \mathbb{1} = (E^2 - \vec{p}^2) \mathbb{1} = m^2 \mathbb{1}$

Why does $\{p, p\}$ commute?
 $\Lambda_+ \Lambda_- = \frac{m+p}{2m} \cdot \frac{m-p}{2m} = \frac{m-p}{2m} \cdot \frac{m+p}{2m} = \Lambda_- \Lambda_+$
 $= \frac{m^2 - p^2}{4m^2} = \frac{m^2 - m^2}{4m^2} = 0$

2/2

c) We will use $u_r(p) = N \begin{pmatrix} \frac{\vec{\sigma} \cdot \vec{p}}{E+m} \chi_r \\ \chi_r \end{pmatrix}$, $v_r(p) = \begin{pmatrix} N \frac{\vec{\sigma} \cdot \vec{p}}{E+m} \chi_r \\ \chi_r \end{pmatrix}$

with $N = \sqrt{\frac{E+m}{2m}}$, $\chi_1 = \begin{pmatrix} 1 \\ 0 \end{pmatrix}$, $\chi_2 = \begin{pmatrix} 0 \\ 1 \end{pmatrix}$

Which of the explicit expressions for u_r, v_r is meant?

We first find: $\Lambda_{\pm}(p) = \frac{m \pm \not{p} \not{\sigma}}{2m} = \frac{1}{2m} \left\{ \begin{pmatrix} m & 0 \\ 0 & m \end{pmatrix} \pm \begin{pmatrix} p_0 & 0 \\ 0 & -p_0 \end{pmatrix} \right.$

$\left. \pm \begin{pmatrix} 0 & p_1 \sigma^1 \\ -p_1 \sigma^1 & 0 \end{pmatrix} \pm \begin{pmatrix} 0 & p_2 \sigma^2 \\ -p_2 \sigma^2 & 0 \end{pmatrix} \pm \begin{pmatrix} 0 & p_3 \sigma^3 \\ -p_3 \sigma^3 & 0 \end{pmatrix} \right\}$ where from Normalization?

$= \frac{1}{2m} \begin{pmatrix} m \pm E & \mp \vec{p} \cdot \vec{\sigma} \\ \mp \vec{p} \cdot \vec{\sigma} & m \mp E \end{pmatrix}$

Using $p_0 = p^0 = E$ and $p_i = -p^i$ for spatial coordinates
 $\gamma^0 = \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix}$, $\gamma^i = \begin{pmatrix} 0 & \sigma^i \\ -\sigma^i & 0 \end{pmatrix}$.

Now we will take a look at:

$\sum_{r=1,2} u_r(p) \bar{u}_r(p) = u_1(p) u_1^\dagger(p) \gamma^0 + u_2(p) u_2^\dagger(p) \gamma^0$

$= \frac{E+m}{2m} \left\{ \begin{pmatrix} \chi_1 \\ \frac{\vec{\sigma} \cdot \vec{p}}{E+m} \chi_1 \end{pmatrix} \left(\chi_1^\dagger, \chi_1^\dagger \left(\frac{\vec{\sigma} \cdot \vec{p}}{E+m} \right)^\dagger \right) + \begin{pmatrix} \chi_2 \\ \frac{\vec{\sigma} \cdot \vec{p}}{E+m} \chi_2 \end{pmatrix} \left(\chi_2^\dagger, \chi_2^\dagger \left(\frac{\vec{\sigma} \cdot \vec{p}}{E+m} \right)^\dagger \right) \right\} \gamma^0$

$\chi_1 \chi_1^\dagger = \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix}$

$\chi_2 \chi_2^\dagger = \begin{pmatrix} 0 & 0 \\ 0 & 1 \end{pmatrix}$

$\frac{E+m}{2m} \begin{pmatrix} 1 & \left(\frac{\vec{\sigma} \cdot \vec{p}}{E+m} \right)^\dagger \\ \frac{\vec{\sigma} \cdot \vec{p}}{E+m} & \left(\frac{\vec{\sigma} \cdot \vec{p}}{E+m} \right)^\dagger \left(\frac{\vec{\sigma} \cdot \vec{p}}{E+m} \right)^\dagger \end{pmatrix} \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix}$ using $\chi_1 \chi_1^\dagger + \chi_2 \chi_2^\dagger = 1$

$\stackrel{\vec{\sigma}^\dagger = \vec{\sigma}}{\uparrow} \stackrel{\vec{p}^\dagger = \vec{p}}{\uparrow} = \frac{1}{2m} \begin{pmatrix} E+m & -\vec{\sigma} \cdot \vec{p} \\ \vec{\sigma} \cdot \vec{p} & -\frac{(\vec{\sigma} \cdot \vec{p})^2}{E+m} \end{pmatrix} = \frac{1}{2m} \begin{pmatrix} E+m & -\vec{\sigma} \cdot \vec{p} \\ \vec{\sigma} \cdot \vec{p} & -\frac{\vec{p}^2}{E+m} \end{pmatrix} = \frac{1}{2m} \begin{pmatrix} E+m & -\vec{\sigma} \cdot \vec{p} \\ \vec{\sigma} \cdot \vec{p} & -\frac{E-m^2}{E+m} \end{pmatrix} = \frac{1}{2m} \begin{pmatrix} E+m & -\vec{\sigma} \cdot \vec{p} \\ \vec{\sigma} \cdot \vec{p} & m-E \end{pmatrix}$

where we used that $(\vec{\sigma} \cdot \vec{p})^2 = \sigma^i p_i \sigma^j p_j = p_i p_j \sigma^i \sigma^j = p_i p_j \{ \delta_{ij} 1 + i \epsilon_{ijk} \sigma^k \} = \vec{p}^2 = E^2 - m^2$
 as $i p_i p_j \epsilon_{ijk} \sigma^k = i \left\{ \frac{1}{2} \epsilon_{ijk} p_i p_j \sigma^k + \frac{1}{2} \epsilon_{jik} p_i p_j \sigma^k \right\} = \frac{i}{2} \{ \epsilon_{ijk} p_i p_j \sigma^k - \epsilon_{jik} p_i p_j \sigma^k \}$
 $p_i p_j = p_j p_i$

Comparing these two yields $\Lambda_+(p) = \sum_{r=1,2} u_r(p) \bar{u}_r(p)$

Analogously, we get: $\sum_{r=1,2} v_r(p) \bar{v}_r(p) = v_1(p) v_1^\dagger(p) \gamma^0 + v_2(p) v_2^\dagger(p) \gamma^0$

$= \frac{E+m}{2m} \left\{ \begin{pmatrix} \frac{\vec{\sigma} \cdot \vec{p}}{E+m} \chi_1 \\ \chi_1 \end{pmatrix} \left(\chi_1^\dagger \left(\frac{\vec{\sigma} \cdot \vec{p}}{E+m} \right)^\dagger, \chi_1^\dagger \right) + \begin{pmatrix} \frac{\vec{\sigma} \cdot \vec{p}}{E+m} \chi_2 \\ \chi_2 \end{pmatrix} \left(\chi_2^\dagger \left(\frac{\vec{\sigma} \cdot \vec{p}}{E+m} \right)^\dagger, \chi_2^\dagger \right) \right\} \gamma^0$

$= \frac{E+m}{2m} \begin{pmatrix} \left(\frac{\vec{\sigma} \cdot \vec{p}}{E+m} \right)^2 & \frac{\vec{\sigma} \cdot \vec{p}}{E+m} \\ \frac{\vec{\sigma} \cdot \vec{p}}{E+m} & 1 \end{pmatrix} \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix} = \frac{1}{2m} \begin{pmatrix} \left(\frac{\vec{\sigma} \cdot \vec{p}}{E+m} \right)^2 & -\vec{\sigma} \cdot \vec{p} \\ \vec{\sigma} \cdot \vec{p} & -(E+m) \end{pmatrix}$

$= -\frac{1}{2m} \begin{pmatrix} m-E & \vec{\sigma} \cdot \vec{p} \\ -\vec{\sigma} \cdot \vec{p} & m+E \end{pmatrix} = -\Lambda_-(p)$ and thus that we claimed \square

Per L_{μ}^{ν} ?

H/15) L.T: $x^{\mu} \mapsto \Lambda_{\nu}^{\mu} x^{\nu}$, $\psi(x) \mapsto S(\Lambda) \psi(x)$, $\bar{\psi}(x) \mapsto \bar{\psi}(x) S^{-1}(\Lambda)$

What's the $\frac{i}{2}$ in $\sigma^{\mu\nu}$ for?

$\psi(\vec{x}, t) \xrightarrow{P} \psi(-\vec{x}, t)$, $S_P = e^{i\alpha} \gamma_0$, $\{\delta_{\mu\nu}\} = 0$ (3)

$S(\Lambda)^{-1} \gamma^{\mu} S(\Lambda) = \Lambda_{\nu}^{\mu} \gamma^{\nu}$ (1), $S(\Lambda) \gamma_5 = \gamma_5 S(\Lambda)$ (2)

$\psi(\vec{x}, t) \xrightarrow{P} \psi(-\vec{x}, t)$

a) $\sigma_{\mu\nu} = \frac{i}{2} [\gamma_{\mu}, \gamma_{\nu}]$

$$\begin{aligned} \bar{\psi}(x) \sigma_{\mu\nu} \psi(x) &\xrightarrow{P} \bar{\psi}(x) S(\Lambda)^{-1} \frac{i}{2} [\gamma_{\mu}, \gamma_{\nu}] S(\Lambda) \psi(x) \\ &= \frac{i}{2} \bar{\psi}(x) S(\Lambda)^{-1} (\gamma_{\mu} \gamma_{\nu} - \gamma_{\nu} \gamma_{\mu}) S(\Lambda) \psi(x) \\ &= \frac{i}{2} \left\{ \bar{\psi}(x) S(\Lambda)^{-1} \gamma_{\mu} S(\Lambda) S(\Lambda)^{-1} \gamma_{\nu} S(\Lambda) \psi(x) \right. \\ &\quad \left. - \bar{\psi}(x) S(\Lambda)^{-1} \gamma_{\nu} S(\Lambda) S(\Lambda)^{-1} \gamma_{\mu} S(\Lambda) \psi(x) \right\} \\ &\stackrel{(1)}{=} \frac{i}{2} \left\{ \bar{\psi}(x) \Lambda_{\mu}^{\sigma} \gamma_{\sigma} \Lambda_{\nu}^{\rho} \gamma_{\rho} \psi(x) \right. \\ &\quad \left. - \bar{\psi}(x) \Lambda_{\nu}^{\kappa} \gamma_{\kappa} \Lambda_{\mu}^{\lambda} \gamma_{\lambda} \psi(x) \right\} \\ &= \frac{i}{2} \Lambda_{\mu}^{\sigma} \Lambda_{\nu}^{\kappa} \left\{ \bar{\psi}(x) \delta_{\sigma\kappa} \psi(x) - \bar{\psi}(x) \delta_{\kappa\sigma} \psi(x) \right\} \\ &= \Lambda_{\mu}^{\sigma} \Lambda_{\nu}^{\kappa} \bar{\psi}(x) \frac{i}{2} [\delta_{\sigma\kappa}] \psi(x) \\ &= \Lambda_{\mu}^{\sigma} \Lambda_{\nu}^{\kappa} \bar{\psi}(x) \sigma_{\sigma\kappa} \psi(x) \end{aligned}$$

At what point did we use that $S(\Lambda) \in SL(2, \mathbb{C})$?
So should naturally also hold for $S(\Lambda) = P$?

$\bar{\psi}(x) \sigma_{\mu\nu} \psi(x) \xrightarrow{P} ?$ (1/2)

I Disappointed 0.5 because $\vec{x} \mapsto -\vec{x}$
You cannot forget that

b) $\bar{\psi}(x) \gamma^{\mu} \gamma_5 \psi(x) \xrightarrow{P} \bar{\psi}(x) S^{-1}(\Lambda) \gamma^{\mu} \gamma_5 S(\Lambda) \psi(x)$
 $\stackrel{(2)}{=} \bar{\psi}(x) S(\Lambda)^{-1} \gamma^{\mu} S(\Lambda) \gamma_5 \psi(x)$
 $\stackrel{(1)}{=} \bar{\psi}(x) \Lambda_{\nu}^{\mu} \gamma^{\nu} \gamma_5 \psi(x) = \Lambda_{\nu}^{\mu} \bar{\psi}(x) \gamma^{\nu} \gamma_5 \psi(x)$

$\bar{\psi}(x) \gamma^{\mu} \gamma_5 \psi(x) \xrightarrow{P} \bar{\psi}(x) S_P^{-1} \gamma^{\mu} \gamma_5 S_P \psi(x)$ Remember $\psi(-\vec{x}) \xrightarrow{P} \psi(-\vec{x}) \gamma_0$
 $= \bar{\psi}(x) \gamma_0 \gamma^{\mu} \gamma_5 \gamma_0 \psi(x) \stackrel{(2)}{=} -\bar{\psi}(x) \gamma_0 \gamma^{\mu} \gamma_5 \gamma_0 \psi(x)$
 $= \begin{cases} \bar{\psi}(x) \gamma_0 \gamma_5 \psi(x), \mu=0 \\ -\bar{\psi}(x) \gamma^{\mu} \gamma_5 \psi(x), \mu \neq 0 \end{cases}$ as $\gamma^0 = \gamma_0, \gamma^i = -\gamma_i$
 $\{\gamma^{\mu}, \gamma^{\nu}\} = 2g^{\mu\nu} = \delta^{\mu\nu}$ (2/2)

Why only $\psi(x) \mapsto \psi_P(x)$ and not $\psi(x) \mapsto \psi_P(-x)$?

Spatial reflection?
Time reflection?

\rightarrow Pseudovector, spatial reflection \rightarrow time changes sign spatial components don't

Derivative also has to be transformed?

$$\begin{aligned}
 c) \quad \partial_\mu [\bar{\psi}(x) \gamma^\mu \partial_5 \psi(x)] &\mapsto \Lambda_\mu^\kappa \partial_\kappa [\bar{\psi}(x) S(x)^{-1} \gamma^\mu S(x) \psi(x)] \\
 &\stackrel{(1)}{=} \Lambda_\mu^\kappa \partial_\kappa [\bar{\psi}(x) \Lambda_\nu^\mu \gamma^\nu \psi(x)] \\
 &= \underbrace{\Lambda_\mu^\kappa \Lambda_\nu^\mu}_{=: \delta_\nu^\kappa} \partial_\kappa [\bar{\psi}(x) \gamma^\nu \psi(x)] \\
 &= \partial_\nu [\bar{\psi}(x) \gamma^\nu \psi(x)]
 \end{aligned}$$

Why $\Lambda_\mu^\kappa \Lambda_\nu^\mu = \delta_\nu^\kappa$?

$$\begin{aligned}
 \partial_\mu [\bar{\psi}(x) \gamma^\mu \partial_5 \psi(x)] &\mapsto \tilde{\partial}_\mu [\bar{\psi}(x) S_\mu^{-1} \gamma^\mu S_\mu \psi(x)], \quad \tilde{\partial}_\mu = \begin{pmatrix} \partial_0 \\ -\partial_1 \\ -\partial_2 \\ -\partial_3 \end{pmatrix} \\
 &= \tilde{\partial}_\mu [\bar{\psi}(x) \delta_0 \gamma^\mu \delta_0 \psi(x)] \\
 &= \tilde{\partial}_\mu [\bar{\psi}(x) \delta_0 \gamma^\mu \delta_0 \partial_5 \psi(x)] \\
 &= -\tilde{\partial}_\mu [\bar{\psi}(x) \delta_0 \gamma^\mu \delta_0 \partial_5 \psi(x)] = -\partial_\mu [\bar{\psi}(x) \gamma^\mu \partial_5 \psi(x)]
 \end{aligned}$$

$$\text{as } \delta_0 \gamma^\mu \delta_0 = \begin{cases} \gamma^\mu & \text{for } \mu=0 \\ -\gamma^\mu & \text{for } \mu \neq 0 \end{cases}$$

Better way to write this down?

$$\text{and } \tilde{\partial}_\mu \gamma^\mu = \partial_0 \gamma^0 - \partial_1 \gamma^1 - \partial_2 \gamma^2 - \partial_3 \gamma^3$$

2/2

→ Pseudo Scalar